Construction division. Advice for giving credit to contractors/suppliers.

Sl. 1 regi	Vo. — site bills	-113	9-	Date Regis	- site bil ter	la ,	17/04	1/22.
	pany Name:	MRML	Site:			G.M.)	
Nan	ne of Contractor	Anand	Just	d is	ebu			
Nati	ire of work	Wate	AL					
Wor	k done	From Date	1	1.03	11	Date	Annual Contract of the Contrac	14-22.
SI.	Villa/Flat/block no	. Qty.	Rat	œ	Units	Amoun	t.	Contractors bill no
No. 1.	C D)) 9.	00	20	30	SPI	9.40	720	
2.	C-Block Su	100	DA :	30			and a straight of the second second	
3.	mo 3 f 4.					AND THE PARTY OF T		
4.	works com	XLA						
5.	con conf			- Areson				
6.								
7.								
8.								
9.			493					
10.								
11.	Τ	otal:	6				720	
Bill r	panimpa	DYES D	NO.		T bill req			∃NO.
		□ Require	MY AVE		Measurement & estimate sheet:		2 Enc	
		□ Not req	PO/WO date:				NAME OF TAXABLE PARTY.	enclosed
PO/WO no.		PO/WO date.				1 86	808.	
Remarks:								
			1					
	anners and a statement of the statement							
Approved by Project Manager Approved by Design Team Approved by M.D.								
		Do	Date:			-	Date:	
Date: Sign:			Sign:			S	Sign:	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

impetion 3 AGMR Sumps water proof with kalai finish.xlsx

ESTIMATE SHEET Company Name Cannother Residency Work Description Sumps 3 & water proofing with Islan finishing Prepared By Sho. Item Head Island Waterproofing with Islan finishing 1 Sumps Sumps Waterproofing with Islan finishing 1 Sumps Waterproofing with Islan finishing 1 Sumps Waterproofing with Islan finishing 1 Sumps Waterproofing with Islan finishing 2 July 220
MRMLLP Galmshar Residency Sunps 3 & 4 water proofing with kalar finishing Ramprasad Inem Description Junits Rate in Rs Amount in Rs Item Description Quantity Hearproofing with kalar finishing South
Approved b Ram Prasad Sign: A water proofing with kalai finishing Quantity Quantity Units Rate in Rs Amount in Rs arronofing with kalai finishing 8,024 Sh 30.00 2,40,720 2,40,720
Item Description Quantity Quantity Quantity Quantity Total cost Rs Total cost Rs
Item Description Quantity Quantity Quantity Quantity Total cost Rs Total cost Rs
Approved b Ram Prasad Sign: Value Practice Practice Practice Practice
Approved b Ram Prasad Sign: Value Practice Practice Practice Practice
Approved b Ram Prasad Sign: Value Practice Practice Practice Practice
Approved b Ram Prasad Sign: Units Rate in Rs Amount in Rs 8,024 Sft 30.00 2,40,720
Approved b Ram Prasad Sign: Units Rate in Rs Amount in Rs 8,024 Sft 30.00 2,40,720 Total cost Rs
Approved b Ram Prasad Sign: Units Rate in Rs Amount in Rs 8,024 Sft 30.00 2,40,720
Approved b Ram Prasad Sign: Units Rate in Rs Amount in Rs 8,024 Sft 30.00 2,40,720
Approved b Ram Prasad Sign: Units Rate in Rs Amount in Rs 8,024 Sft 30.00 2,40,720
Approved b Ram Prasad Sign: Units Rate in Rs Amount in Rs Sh 30.00 2,40,720 Sh 30.00 2,40,720
Approved b Ram Prasad Sign: Units Rate in Rs Amount in Rs Sh 30.00 2,40,720 Sh 30.00 2,40,720
Approved b Ram Prasad Sign: Rate in Rs Amount in Rs 30.00 2,40,720 2,40,720
Approved b Ram Prasad Sign: Rate in Rs Amount in Rs 30.00 2,40,720 2,40,720
40,720
[

Measurement 3,4GMR Sumps_water proof with kalai finish.xlsx

Gulmohar Residency Sumps 3 &4 of water proofing with	Sig with kalai finishing	Sign: lai finishing			
proofing w	ith kalai fin	ishing			
				_	_
2					
x Hope	Juga.				
	C				
Α	В		E= AxBxCxD		Total
Length Wid			Quantity	Units	
2	15			sft	
200	15			sft	
26.00	4			sft	
10.00	16			sft	
7.00	; ;			s₽	
0.50	15.			RA	
			101	£ !	
154	0.	25	1 39	1 A	4 083
				311	1,000
26.00	15.				
43.75	15				
26.00	43	.75	1 1,138	IIS	
7.00	15			IIS	
0.50	15			IIS	
			138		
138	0	25	1 35		
100				sft	3,943
		Tota	l Area	Sft	8,024
	A A A A A A A A A A A A A A A A A A A	Width H	C C NHeight N 15.00 15.0	C D E= AxBxC Height Nos Quantity 15.00 2 1,3 15.00 2 1,3 15.00 6 6 15.00 2 1 15.00 5 1 15.00 5 1 15.00 5 1	C D = AxBxCxL Unit Height Nos Quantity Unit 15.00 2 780 s 15.00 6 630 s 15.00 2 1.320 s 15.00 2 1.54 P 0.25 1 39 1 15.00 2 1.313 43.75 1 1.38 15.00 2 1.38 15.00 2 1.313 43.75 1 1.38 15.00 2 1.313 15.00 2 1.313 15.00 2 1.313 15.00 2 1.313 15.00 2 1.313 15.00 2 1.313 15.00 2 1.313 15.00 2 1.313 15.00 2 1.313 15.00 3 13.8 15.00 3 13.00 3 13.8 15.00 3 13.8 15.00 3 13.8 15.00 3 13.8 15.00 3 13.8 15.00 3 13.00 3 13.00 3 13.00 3 13.00 3 13.00 3 13.00 3 13.00 3 13.00 3 13.00 3 13.00 3 13.00 3 13.00 3 13.00 3 13.00 3 13.00 3 13.

Bill for Labour Charges

Anand Water Proofing Hyderabad Mallapur

Date 09-04-22

Location: Project / Site: In favor of: Type of Work: Water proofing Works.
Allowance for Labour Charges. Gulmohar Residency MR Mallapur LLP Mallapur

Towards:

	-	S No.	
Total Amount = 2,32,624/- Work done from date 14.03.22 to date 09.04.22.	Brief description of work doller forwards Waterproofing Works In C lock Sump Nos 5 & 6.	Description	
	Rs.93049/-		Amount

Amount in words: Ninety Three Thousand and Forty Nine Rupees Only.

Sign:

Bill for Equipment Allowance

Aad Water Proofing. Mallapur Hyderabad

Date 09-04-22

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Water proofing Works.

Towards:

Allowance for Equipment.

~ ~ ~	Description	Amount
S No.		
1	Brief description of work done: Towards	D 02040/
1.	Waterproofing Works In C lock Sump Nos 5 & 6.	Rs.93049/-
	Total Amount = $2.32.624$ /-	
	Work done from date 14.03.22 to date 09.04.22.	

Amount in words: Ninety Three Thousand and Forty Nine Rupees Only.

Sign:

Allowance for Consumables

Anand Water Proofing.

Mallapur

Hyderabad

Date 09-04-22

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Water proofing Works.

Towards:

Allowance for Consumables.

		Amount
S No. 1.	Brief description of work done: Towards A. C. Lock Sump Nos 5 & 6.	Rs.46524/-
	Waterproofing Works In C lock Sump Nos 5 & 6. Total Amount = 2,32,624/- Work done from date 14.03.22 to date 09.04.22.	

Amount in words: Forty Six Thousand Five Hundred and Twenty Four Rupees Only.

	, and
Sign:	Dr. cond